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PART - A
GENERAL INTELLIGENCE & REASONING
Directions: In question nos. 1 to 6, select the related word/ | B. (&) Widow (B) Spinster o
letters, mumber from the givenalternatives. ;
{5 Wife ! (T} Bachelor
11 1.
1. ) § = EI.' ﬁ = _L_I_u
t 9. (ME iB) B Q O o) 1
1 1 =
(A = B = - -
10, (A) BKDF (B OLTF
I I
{8 o7 T - (O Q. [ TPDC
P il 1. {A) Dispersion (87 Diversion
{A) UV (B XW O VU (D) WX () Drlution (O) Distribution -
3. Gheep:mution::Deer: 7 B 4 97 B) 132 g 121 (L) 88
(A) tlesh (B wenson =
() veal (Y meat 13.  Which vne of the given responses would be a
: meaningful arder of the fullowing ?
L 11322 et i
(A} 990 (B 13:16% o isee -
(€} 15 250~ ) 10100 bkt
(h Seedling
5. FLOWER: REWOLF : FRUITS: 2 ) @.eLm. (B 140 (1 0. 1)
(4) STIURE {®) STUIFR © G0 O e
{0} STRUIF () STUIRE
M. Armge the following words as per order in the =
dictionarny, >
6. Cobbler: Leather:: Tailor: 7 e
(1 pecrology
(A) Shirt (B} Daper
— 3 necromancy
() Thread 0y Cloth '
= {3t secropolis
: : - I+ pecraphilia
Directions : In question nos. 7 t0 12, find the ndd rumber/
letters/ number pair from the given alematives. (A} (028 453 (B 020 (1), (3 (4)
Lo {B 120 o6 (C3 120410 {30, 43 (D (1) (20435, (4)
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L. -1
L S -
9. (A)E 48 B Qo0  -mi
-1
T ®
10. (A) BKDF _{BFOLTF
1
[ Repr G e Q) BILQ {C) TPDC
% AB:ZY::CD:_2 _ . A P (B fames
Uy @\rxw (O v D) WX O TR [y Formm
3 Uz owE-fm 2 12 7 @ 1\ O 1 s
(A} W (B
O Hm {0) T 13, e o A A s e A T
T F T E 7
" S 5 % o S ) 9
Lea o - (B) 13: 160 8 (2) =i
9 15: 20 (ty 10100 i 3) 'q;;_:l.
’ @
5. FLOWER:REWOLF:FRUITS: 7
A5} STILRE B STUTR (A} (2 (3). (1) (4) BT (1), (30, (2)
(C) STRUIF O} STUIRF B2 (1) (D 5 (20 30, (1)
6. HE-E.=d. o W, fofafm w= A weEm O o owm F s
FH
1) (B} F 1) necmlogy
{5 = Wi Rk {2) necromancy
- ' {3} mecropolis &
P - 7 T 7 1za% A, fwow e A @ B (#} necrgphifia
A 4 o LA T (20, 4, 3) (B) 2111, (31, (4
oA M i 1 Wy oe G 2 (0.5 ) (1002, 130, 140
T W A
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Directions : In question nos. 15 ko 18, a series is given,with
one lern missing. Choose the comvect alternative from the
given ones that will complete the series,

15.

16,

17

18.

19.

2k,

21,

ACE, BDF, CEG,_ 7 _,
(4) DFH (8 DEH (O DFE- (D) DEF

ABCFQRDERSTU 7

{A) GHI B IK
{C) GKL o vwx

7% 242,82, T

) 162 (B 183 () 43 (D) 13
233917 .

(A) 32 TB 3 40 M o 3

If "FATHER' is coded as 'HEVJIGT' then how can
"SHIP be coded as

(4 UIKR =
() UKIR

(B) THKR_
(D) TIQ

Ina certain code language Sue Re Nik means She is
prave, I Sor Re Nik means She is always smiling
arid Sor Re Zhi means Is abways cheerful. What is
the code used for the word smiling ?

4] Re (B Ti (O Sor__ (O) Nik

Lonking ata woman sitting next to him, At said,
*She s the sister of the husband of my wife™. How
15 the woman related to Amit ?

(B Wifa

(% Daughter

I:-"'-] Sister

(0} Niece

i

If PKROK is coded as 72962 and KRRPK as 29972

then how can NIMLZ be coded ?
{A) 91572 {B) 51430
i) 45176 M 74314

In a retail shop, there were 54 cupbeards. In each
cupboard, 28 racks were made. In each rack 10
boxes were kept. Incach box 4 shirts were packed.
One day 500 boxes were sold and 250 boxes wers

. purchased. How many shirts were there on that

day ?
(A) 59,580 (B} 59,480
(C) 60380 D) 59,360

From the given alternatives select the word which
canni be formed using the letters piven in the word,

MERCHANDISE
(A} DICE
(C) CHANGE

(8] CHARM
(D) MESH

select the correct combination of mathematical signs
to replace * signs and to balance the siven
wuation,

Rl A R

=t

) ®+-—=

0 +-=+

B) %~ +=
) +x=-

Mahesh is "60" vears old. Ram is '5" years junior to
Maheshand ‘4 vears senior to Baju. The voungest
brother of Raju 15 Babu and T i 06" VT AT b
him, What is the age difference between Mabesh
and Babu ?

[A} 15 (B) 13 i) 6

@ 14

Find the hidden meaningful word from the coded
alphabets if the alphabets are in reverse order,

() 1511, 2. 2613 (B} 1L IL 1503 26

3y 32151511 (B 13,15 20, 15,22
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Pl - o e 15318 9 05 sgEn o g, Pl o e
AT | T e A A w w e gfm  ae
T FL

15. ACE BDF,CEG, _7 -

5 (B} DEH

_A-DFH’ (© DFE () DEF

16.  ABCPQRDEFSHE 2 |

A GHL (B) TK
) GKL D VWX
17. 71224382, ¢ -
~AT162 0 (B) 183 (O 143 M 173
W 2354917 7 .
(A) 32 _@yrmaa ) 34 Dy 31

19, EECFATHER' F1 ‘HCVIGT % 59 ¥ Hifsa fem
HI LG SHIP F 4 wiss 5 T 2

+ LIKR

T O UKR

{B) THKR
(B 1

2. T FE W Sue e Nik F1 34 2 Sh is brave,
PiSor Re Nik 1 &% § She i always smiling 3
Sor Re Zhi %1 3% F Is always cheerful Smiling
= T R W wm ey a2

{4} Fe M-"-

21 mﬁm#ﬁaﬂﬁmﬂﬁﬁniﬁgmﬁﬂ%
m.”a;ﬂfrqﬂ?%trﬁfzﬁ’raﬁq?l”mﬁww
H0F | vy T 7

1y VT

W S i fak

(B) i
() =

. AR PKROKF 72062 3T KRRPK F1 20972 % w1

7 i B W #  NIMLZ 9 5 S fa
I 7

{A) 91572 UB1430

() 45176 ) 74314

i P Wk TR gEE A, 54 et o1 vE s

Wi ) v T AT TS ST
A it vt off 1 o i 009t o ong
=it M wE A e e o

{A) 59580 —EBT 50,480 =
(D) 60,3680 (D) 50360

=

2. T e A T e S A o

W= 1 i Awd | 91wl wwa )
MERCHANDISE
{A) DICE {B} CHARM
S THANGE {0} MESH

2. W W ol R e A
F fan zﬁ'rn'rra'lzruﬁm%mmﬂaﬁﬁm
2¥4egegag
{Ar x=-= R
) +-—== I # x=—

6. UER Y60 T T m Ay o g d o

TGy g ] 1 8 B2 i = £ of

T8 T 6w 2 B e 3 A o o e

HE?

N R (Cy 06 o 18

27, A s W A R Fifza A S g g e
T I A

(A} 15,11.22, 26,13
(€} 26,22 15,13, 11

B} 11,22,15,13, 26

DT, 15, 26, 15,22

% & T g w
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28,  1f>denotes +, <denotes —, + denoles =, * denoes
¥, = deriotes =, % denotes > and = denotes =,
Lﬂ'ﬂ:seﬂw{ﬂnedsmlemiﬂFmefnUmh’ﬁlg:

(A} 955>4-18+9>14
B 9<3<251x8%0
Q) BB+442=6M 342
[0) 1357 <6+2=344
29, IF144=9,2+8=18, 3+6=15thenT+5=?
(A) 23 (B) 30 ) 32 (T 41

—

30.  From the given alternafiveavords, select the word
webtich can be formed using the letters of the given

word,

REPUTATION

(A) REQUIRE (B RETIRE

{0}y TUTOR [ PONDER
YR B 3 i) 5 Dy 0

Directions * In question nos. 32 to 34, seloct the Missing
nuriber from the given responses :

32 3 12 13
fi 5 10
2 ] 1
4 15 18
{A) 5 B i iCr 3 15
13, fi 5 4
7 fi 5
5 7 f
AT 5 ?

(A 17 B 13 iy 14 ity 10

28 ) 37
1 2 7
2% 36 19

Wi @B Qxn D%

CneStatement is given followed by two Conclusions Tand
_I. You have to consider the statement to be brue, evenif it
seems to be at variance from commonly known Facts. You
are to decide which of the given conclusions can definitely
be drawn from the given statement. Indicate FOUT ANSWET.

35

36,

Most Indians are aware that they have a great
heritage, but few would include science in it.

Conclusion:1  Many Indians consider seience to
© 7 havemadeIndisn heritage great.

Il Many Indians are not aware that
India has a great scientific
heritage.

(A} Only Conelusion 1 follows
(B) Both Conclusions | and [ follow
(L} Neither Conclusions [ nor 1L follow

(L Only Conclusion [ follows —

Scnia stasted from her house and travelled § km
twirds east, Then she termed Teft and travelled
& km. Then she turmed righfand travelled 4 km. At
what distance is she from starting point ?

(A} Ekm B Skm
i€} 10km O 14km

fre each of the following question, there are furn
statements labelled as Assertion (A) and Reason {R).

{4) Autism is a developmental disability.

(R} Heridity and lower development of brain are -
the cavses of the Autism.

(A} Both{A)and (R}are true
{B) {A)is true and [R) is False
(CF fAd s false and (R s brye
ICH - Both (A) and (R} are false

SPACE FOR ROUGH WORK
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g;ﬂ-{=<zﬂ‘ﬂﬁﬁmiﬂﬁﬂﬂﬁlﬁaﬂﬁ'ﬂﬂw 15 3R ]9

gFm %

; N oL 2 26

AT Y=5>4-18+9>16 Sk H &

B 9<3<2>1x8*2 i v e ey B e s € Trepd 1 2o Pt

{0 B+4"2=624+2 5 o T E | R fEEE F E T 7 9 O U
_-{[]} 1337 <gh2ainy mﬂﬁﬁﬁﬁﬁﬂﬁﬁlmﬁﬂhm%ﬁhm

e 1 8 wiA-m Tl v g g8 Feed Feen @ wwm
29, AR1+4=9,2+8=18, 3+6=15T 7+8="7 £l aﬂqﬁmraﬁﬁﬁﬂaﬁhm
B oW © 32 oy a1 | aifernim T e # T Sa we u wer Roem

e t, 51 3o v faem =) wite 6w 8 .
i EENT RO DL RS B T W
T T T WA ol A A A R S
n e awds o arm i e § o
REFLTATION T AT faraa 8
() REQUIRE {E} RETIRE — ey e fae 1) e
e TUToR {0 PREER By Fred 1 st EE PR
oy T 1afmun T FE T fwam
i B Ee—ixgp.cﬂ:? [D:ﬁﬁﬁﬁ'ﬁiﬁﬁﬂl%l
W5 35

AT m TS D0 | i e i e s
_ i gt sl 6 T == e T e g i
P« v e 329 34 fou v faeredt F & oW 7w 3m 3 Toefi =elt | mE wea s A Tt g md
Rt () & (B 5Tt

i i4 ey 10 fait (0 14 felt

A

g 8 7 3. Pt we 9 |, e () S (R

1 15 8 o Fea g T F

(TR ® & € F 15 () TeateiE o T

(R} sifmEs s afees = ow fawm e
WIS & 0 =

T LAAATHAT (R)TA1 78 F4

B) (A} R E 7 (R) T

0y (&Y BT R R R

VIR PN £ S -, ¢ A s WA 1 O ()3 (RIS T

5w &

b 5
7 f
A 7

Lt I = L R

37

=
e
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38.  Sharada started to move in the direction of south.
After moving 15 meters, she turned b e ef k- e
and moved 15 meters each time, Mow how far is she
and in which direction from her starting point ?

(4) 15m. South (B} 30m. East
{0 20m. West D) I5m. East

39, Finu:lﬂuttl‘nenmbemfh-jangiesh-nﬁisﬁgure_
Question figure

(A} 14 ®) 16 () 18 o) 12

. Tdentify the answer figure from which the pleves
given in the question figures have been cut.

CQuestion figures

ONI |

A [N

Answer figures-

(&) [\

{A)

A

(D)

4. Which of the following diagrams represents the
correct relationship between Herbivores, Tigersand
Animals ?

Answer figures

- W ®  © o

42, [f&bediﬁermueheh«remﬂlemnfdn!snnﬂm
opposite faces is 3, find out the figure which is
corect ?

Answer figures

ol

i,

43.  Which of the following diagrams represents the
-correct relationship between Books, Novels and
Dictionaries ? .
Answer figures -

@D[ ©9 ||amD
(A} (B} () (o

M. Identify the region that represents students studying.
Biology and Computer not Mathematics.
Question figure

Moathematics

2\ Biofogy
students stindents

A7 B4 s o2
Directions : In questions nos. 45 and 26, which answer
figure will complete the pattern in the question fgure ?

45 Queston figure

Answer figures
- -
AN - [ - '
| R/ &/ I—Q 1 @/
1A I 18] () (£

SPACE FOR ROUGH WORK

CY-2013/ Pages

1M1 LH 2



a6, 9 e o wEn g B s Te | a2 ol g T fgE w1 v Al v
A5 A A AW AT = S EE AW 1515 i B, % AEh Ay S Eh
it | 219 T T T e A Tt gt s T I
fem# %2
) ftakm g sed i z '“ i
© 0ddEs gy H
. (A) ® e O
-
39} o S H AR 43, Frefafin o 4 FR-m SEmm gEE, I AN
ik 2l 35 i3 e e e 22
% mﬂﬂﬁfﬂﬂf
B | e & |am
TR RN T U = s R -
(4 (B) —ef D)
a0, T O ST R i e v i R | aa, e 9 wifan e R o e amn
T T I E | i Tt 7 i A W A
Erakcaed i ¥ A
M & 7
SN (s
VAN N
T S
9 Al l/l\ w7 ®3: ©O6 D2
b S Pt - A T 45 31 46 | i T T ST 9 AR
= 5 v g A 7
(A) (B) (Ch 4B |45, e
q1.  TEfEEd § A - S W, 7 A T % == _
Y % o WA B e A7
1 g r )
of@le[al lsle lo|e
@ @ || |y g |& ||&
{A) (B) iC) I Ay B
T T4 & ferd 0
111LH2
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46, Cuestion figure

Answer figures ’
= 2] s
(4 g (C) o

7. Aword is represanted by only oneset of numbers as
iven in any one of the allematives. The sets of
numbers giver in the alternatives ae represaptbed
by two classes of alphabets as in tw tnatrices given
below. The columns and rows of Matrix T are
numbered from 0 10 4 and that of Matrix [ are
numbered from 5409, A lether from these matrices
can be represented first B its row and wext by i
colmmmn, e.g, ‘M’ can be represented by 42, 31 etr.
and T can be represented by 95, 88 et Sitniilarly,
you have o identify the set for the word Eiven

"ROST:
tlatrix - | Matrix -1
ol1]z[3T4 sle[7[8]%]
1 E|LM{N[O 1P |QIR| 5 [
S{LIMIETOIN] BT sla[P[®
2IN[O|L MK FIR|T|S[0lr
TMIN|[O| kL ESPTRQ
_ 10 KINILM 5{Q|R|P|[T|5

{A) 97, 21, 66, 29 (B} 75,00, 10, 92

{C} #8 3 65,58 (D} 56, 44, 67, 30

48,

44

Whichufﬂrearmmﬁgweismcﬂ}rﬂmummge
of the given figure 7
Question figure

e |
Bl

—

Answer figures -

@B/'N@z

[Tal

(D)

L

(A)

4 piece of papet is folded and-eut as shown below
i the question figures, From the given answer
tigures, indicate how it will appear when opened.
Chuestion figure

|~
(3 eslies
ll""'\-.i-"; b

=t Q
Answer [igures
/"> Ill_r':"xh.}| IIr":—:"H:‘; I{fr\\
L. s ‘ 2 “J
T (B) (=] D)

From the given arswer figures, select the one which
1s hidden/embedded, in the question figure.
Cuestion figure

“k._?_
-:;‘:i\ i
e, S L
el

'
<

Answer figures

(A} (B =

_ i : o

([
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T AT 48, FA H T A 5 T A W e v
£
3_: WY AT
? i
I AH )
. ] :
O [TE
7| || AR
= i [
%* 29 %i - © D
99, 8 v ampiaal o fam s ST F g
(A) "{a.y/‘ () (o) T T EE & A A% TR T A i e
: wm?
W AT
TF T AR T HE-T0F gE 56 T E, S f_f_m [
Fos e 4 ol 0 9 e e 1 e ELT sl s
fou o HEm- A E 2 T am e e I\\.Lf' et (:”:t J
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39,

q,

41.

42,

43,

FOR VISUALLY HANDICAPPED CANDIDAT ES ONLY

I VICTORY = YLFWRUB then SUCCESS = 7
(&) VXFFHVY (B} VYEEHVV
() VYEFIVY (D) VXEEIVY

IFA=1 MAP=30then TAX =7
(A} 46 By 44 i 34 - (D% 45

A group of eight friends S, P, L E N, D, O, R are
Seated atequidistance in a cirde. Sand Pare sedted
in the Nogth - South direction and L and Earein the
East - West direction. N is between S and L and is
diagonally opposite to O I Ris next 1o E then where
is [ sgated 7

(A) Between Pand L
(B] EBetweenEand S
() Betwesn Cand T
{0} Between Eand P

If Red is called as bive, ora nge is called as green,
white is called as vellow. What is the colour of
Bubay 7

[A) Yellow
i) Blue

(B} Red

] Liringe

In & class of 35, first vear siudents, Karuna is placed
7'M from the bottom whereas Surinder is plaged oth
from the tep. Mohan s Placed exactly betureun the
twao. Whal is Karuna's position from Mohan 7
(&) ot S 13t oy ot

|-.-II=.
Fa)

h group of alphabels are given with each baing
assigned anumber, These have to be unscrambliad
into a meaningful word and coryect arder of [etteps
may be indicated From Hhe BIVErNIEs ponges,
NYOPR FET oA

- 234547 80

[A) 3.4,7.8.96.521

AR R e S 1,2

Wy 38,7892 1L 43

=1,

e AR Y 650

45,

4.

47,

48,

49,

Sik

i the day after tomorrow fs Friday, what day would
have been on vesterday ?

(A} Monday (B) Tuesday

Q) Wednesday (D) Sunday

Fire is related to ‘'Ashes' i the same way as

‘Explosion’ is relatedto - v
{A) Debris (B) Explosive
[} Flame

(B} Sound

How many times a day are the hands of 3 clock
overlap each other ? =
{A) 22 (B 23

5 21 oy 24

Which ig the 5 number to the left of the number
which is exactly in the mididle of the following *

14 15 1a JFISIﬂE{JEIHBHEEEﬁﬁES

(A) 21 B 20 () 16 o 2

Ina Caravan maddition o3 hens thers are 43 pogls,
5 camels arhf s kevpers, 1 total namsbor of funt i
224 more than total number of heads then fimd owt
number of keepers.

[4) 8 [ 1

{3 15 Ly 5

Which number is wrono in the BiVEN serivs 7
975, A6, 743, 642, 531,40
) 4

(L 743

(A} 642 (Hy A3t

e e e e e

SPACE FOR ROUGH WORK
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3.

1.

43,

afs VICTORY = YLFWRUBH SUCCESS=?

(A} VXFFHVY
() VYEFIVY

(B} VYEEHVY
([ VXEEIVV

e A=1, MAP=30TTAX=? -
(&) 46 B) 44 0 M (0 45

=@ il S P, LEN,D,ORTTF T THJa 4
YA T T A §1 5 s powa-2im i A s
L 3t B e-ufvem fn A 43§, S 3L F dim
it i oF A et RABEF IR AT
i pFE A E?

Ay PARLF A

B EdfsFa=d

Q) QIR THaEEH

[ EAR PR AT

e 76T 1 AT AT, T A el W, A
] TIAT e 0 ) g T A

(A) e
(C) e

(=

(B} =
(D =T

35 21 AU wan F, FEmE S f 2 vm
T § Tl et F A 9F TE W |
TF i fIegal SHi & =14 8 7§11 FH O 3
FREmmwL?
WmwE mnrd O nd o eF
Uil F-EE § eI 0 R UE En 9 R 5
TF A T O Wegnen A S T Ei O 9w
9 T ShE

NOE Q)T L C A

t 2 34567 &4

45.

47

45,

e A AW AT A & ww e me
(A) HER (B) WETEm

{Cy g (o) T

o wehTe 31 = Ha W W TR e 5
iy g &7

(A) T 1) Faemes

(O == (D) e

o T Tt AW = o W T W e S
{A) 2 (B) 23 © 21 o) 24
W1 Hen fAeefEn & faepd ne § F 39 A 59
e w9 7

1415 16 17 18 19 W0 21 22 23 24 25 26 27 %
(&) 21 B 20 (&) 18 (o) 22
o iR § 5 g T A, 45 R, § 5 W1

5= e £ fz 6 21 39 gen T A g
= H 224 AR § 7 TEAE S A 9 S
(A 8B (B) 10

15 T 5

3

(A) 3,4.7.8.9.6.52 1 50, TreAfeiea S 0 19 5 T e
B B9 74 Rt 675 S THL A3 3T 4
IC) 5,6,7.8.9.2.0,4.3
{ IR S R T | (41 #d47 /Y- 53 g | h 743
T Frd & o a
CY-2013/Pagel3 111 LH 2
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PART - B
GENERAL AWARENESS
1. The Wordsof “Secular” and “Socialist” wereadded | 58, How many chromososmes pairs are in a human
to the Preamble of Indian Constitution by the body ?
——  amendment, (A} 22 ﬁfﬂ Q0 o 19
Ay 1 m oagth g g ﬂ gnd
- ' 9. lithe earthstops rotating, the apparent value of g on
5L Which among the following is not correctly paired ? its surface will ;
{A) Citricacid - Lemon (A) dﬁ:l‘ﬂ_ﬁeeveq.rwlwm
{B) Butyric acid - Rancid butter By~ remain the same everywhers
Formic acid - Vineear () increase atsome places and remain the same at
= other places =

{L} Lacticacid - Milk

(O} increaseeverywhere  _
33, Which of the following movement was not led by | gn,
Mahatma Gandhi ?
oli Satyagraha
{B} Non-cooperation Movement
) Crvit Disobedience Movement
[T Champaran Satvagraha

B- particles emitted from a radicactive nuelsi ape-
{A) Bebium nuclei
{B) fast moving neutrons
fast moving electrons
(L hydrogen neclei

61.  TheNobel Prize for Arthur Komberg was given for

3. Collective Farming i= dome in the grasslandz of the : his work on ;
{A) prairies (B pampas {4) Onegeneone polypeptide hypothess
Jj_[,.}"flﬂppf*ﬁ 0y velds (B} Cracking triplet code
“Tsolation of mecleic acids
3% The UPSC members remain in office - (L) Mutation theory
{4) fora periou of four years or attain &5 years of . _ ; ;
age which ever is earlrer 62 Why wert the C::lngress. Iﬁ';durﬁ disappointed with
W fora penod of six years or till they attain 65 i Q'FFE Mission {1942) ]
years of age which ever is earlier AT hey wanted full independence rather than
Dorminion Status.

(€) for a pericdd of six years or till thew attain 63
vears of age whichever s carlier

(L fora period of five viars or Uil they attain &0
vears which ever is eardier

(B} Thwe Miszion's proposals had not paid atiention
ter the demands of the Muskim League.
{2 Thew did not want to share in the responsibility
for the defence of India.
(Y Noneof the above
76,  Krishi Karman Award for highest growth in
foodgrains (wheat, rice and bengal gram) production 3.

Linnalus is considvied as the Father of Taxomnomy!
was conferred on 100 February 2014 to the :

Irecanae he -

sovermunent of | » o : {4} coined #he term "."Jx-;mmnj."'
Madhya Pradesh (E} L-tt-?ﬂ.‘ Pradesh proposed birtfiomal namenclan: e
) Rajasthan O West Bengal

() authored many books un') axonomy

(D} was the First Person to Clagsify planis
57, Which of the FE‘-”H'.-."ing Mans had actual gT'L"'r'l"l'l

rate higher than the: faargetted yrowih rarg ? R Ml w i R e storage amd
(A} Fifth Feve Year Plan |. cansurphion ef nicotine - based prisducts is banmned
(B) Seventh Five Tear §fan e,

Eighth Five Year Plan (A) Rajasthan g{ Assaim
L} Fourth Five Year Flan L) Mizoram ) Delhi

CY-2M3/ Pageld B 111 LH 2



51.

2 8

5

55,

57.

-3

AT AFERAL

T iy B * e o omEEl

~yt AT TN ) TR A T g 7

(4) 44 (B 46l

Qg ud (o) 423

Feferfia 1 1 S o (el T e

#?

(A) TR A - Y,

(B) Tfiw s - T T A

() il = - e

(D) wifF e - 5

Fmferigs B B o Fneier S g e TR

= femen o ?

(&) TTETE () STTREN S

() T o AREE (D) S A

s AT T o T e A A -

Ay (B TEE

() &= D) 77

iR (8w W ) ¥ wEE

st 7 A T R Y

_(A) W A A W65 A 1 9 BN TR W R
T

(B) 7% 7 7 91 65 9 W1 A FIA T, ;A
e #

(C) T T 9% M 63 7 H A B EA T W
Tl &

(D) ura at 7% W 60 T 3 W EE TE W A
e AN

10 W 2004 F) FE R TR T GEE (T,

W A S T & A e ¥

i el e fem e ?

(A) TEAHRH (B) A

{0y TRITEH = (D i =T

frefafimn 4 & feg o &1 anals 36T

B A e e

(A TET 93 T A

(B) AE] T A

(Cy A1 5 A A

Dy et i =i
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58, HE TALH R TR M AA B Y
(a) 22 (B)-23 0 74 ) 19
= YeAl U 7 T SE T T e 6
T | -
(A) A T FCW
(B) e A

al.

fl.

it

ol

(C) F9 9T W aT A T A W W
| -
(D) T o A |

ottt =pwd % st p - # d

() SifeW A (B) 7 W S

() o e s (D) FESE

it FFE ® e TR 6 e T T

i & T f o ?

(A T i T T S

By Tord 2 ek O

(C) e vl 1

(D) e FrA

s S e e (1942) B Prmm # 4 7

[m_ﬂx’rﬁiﬁmm#mﬂmﬁmaﬁ;ﬁm

() o o e T SRR E W W S
ferem T o1 |

() & e =t e & fom wifres F iR =8 w0
=T 91

oy 37 F | =

T 1 W fage = () e

%ﬁ]ﬁﬂ?:

(A} it e e 0 T

(B) Tgws - AW - TEi W 5

() =T FaEH 7w A e et

(TH T ol =it T S e i o

T T T T A b
(A) T (B} =
() T D) Teeeit
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-85, Thelabour which creates value and gets rewarded | 75, The Chairman of LIC is -

for its services is called : ) :
_A#Y productive labour (&) Vinod Rai /QB{ K Mehrotra
{B) unprodactive labour () Laxman Das D) Meira komar
{0 both skilled and unskilled labour
{0} average labour " 767 ~ Inferns the xylem is;
66.  The Boston Tea Party was: (A} Endarch }B{ Mesarch
(A) a protest against the tea drinkers of Baston () Polyarch (D} Exarch i
a protest against the tea tax :
i) am annuwal social affair
() acelebration of the harvest of tea leaves 77.  Uneof the following is the constitutional power of
the Indian Parliament ;
67.  “Jai Hind" was the slogan given by ; Amendine Indian Constituti h
() LokmanyaTilak J(,ér}”mqum:;ng onstitution as and when
() Subhas Chandra Bose v
(0} Gopalkrishna Gokhale (B) Settling disputes among various departments
H,}Bﬁ’thﬂndm Shekhar Arad -_ (€} Reviewing the work of educabonal institutions

68.. WheredidManga ley revolt? () Swpervising the work of state legislatures

_|AT Barrackpur (B} Thansi

[ Masik I Meerut 78, Dr. B R Ambedkar was conferred “ Bharat Ratna”™
" during the regime of
. weenland isa: s o
;—.{-‘Jt}"ﬁigh platean covered with ice == IFw NEA (B} EIF
(B low platean /E-" K] [y LA

() continent totally covered with spow

big ice sheet
{21 Bigmshee 179 Whichebthe following is ot an attribute of <font>

70.  Thelayer present in between xylem and phloem in elemnent ?
Dhicot Stemis O = _[Ab Face {B) Size
{A)-‘shele ABJ” cambium Archive Color
(@ starchsheath (D) pith H o -

7L Whlﬂhﬂfﬁl‘UfHiEM]DWinguremcnrda{fjrstb}rth 80. China built the Gwadar Port in -

Sesmograph 7 {A) Bangladesh {B) Myanmar

(A} S-waves (B} L-waves : Paki

] R owaves Foiyoia () Vietnam /ﬂﬁ_ akistan
72, Whais the winner of the Tndira Gandhi Peace Prize | g7 Wi wrote” As You Likeit' 7

2012 7 : :

_{AT Elten Johnson Sirleaf (B} Lydia Davis 7{"“7","'““““‘5““'3”“'“

{C} Christina Legarde (T Ela Bhatt ;;qj Leo Tolstoy—

3. Lwqudity preference means ; (9 MulkRaj ftnand
(A7 Desire of the public to hold cash {D} Bernard Shaw
(B} Showing preference to hold capital assets
(&) Showing preference to hold bonds and
SECUrTLRS
([0 Refraining from consumption (A} contracts

82 When central bank buys securities, bank reserves

) {B) remains the same
T4, Emunerabe the '-..c-.anEg,,

{4) Four (B} Eive (X} has no imipacton tie teserves
{7} Eleven f[Eij!ii:{ }1)‘ expardls

CY-2013/ Pagels 111 LH 2
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8. The National Campaign for People's Right to
Information (NCPRI) has been lobbying for the
Passage of the “Whistle blower's Protection Bill",

which is aimed o help:
(A) Woman Activists (B) Street Vendors
BT Activists (L) Noneof theabove

8. ‘Sun isa constant source of enerpy’. Which nuclei

getfused in Sun’s atmosphers 7
" {A) Helium (B Uranium
{©) Plutoninm _ABY Hydrogen

B5.  Taperecorder records sounds in the form of -

Mapnetic energy _ {B) Variable resistanee
() Sound waves 18] Elam-imle:l'u-‘:r_g}'—
86.  Speciesisa group of individuals which can -
{A) survive even under ndd comditions
J,.EBTHFEm:tinreprmJuﬂjve]}lviﬂbIe
{CF ot inter-braegd
M) successhlly live together in a niche

B7.  Probiotic ¢y rd

benafitting good
(A transgenic B

(S bacteria
-

(Yogart) contains health

(B} antibiorics
D) source of ENErEY

BB.  Asolid cannot change its shape easily compared bo
|j-.|u||.! because of :

1" stronger intermolecufar barce insolid
{E) lﬂrgl:rinlermlecularﬁepcmﬁnn insolid
() bigeer malecular size of sulid
D} higher density of solig

8. Which matters come under the Original Jurisdiction
of the High Court 7
(A Election disputes
18] Criminal disputes
Constitutional d iBpurtes
(D} Ciwil disputes
90, Agetic acid on decarboxylation EIvES
v e (B Propang
) Putane f_j,Dr?lrEEIhanE

CY-2013/Page1y

9. Krivoy-Rog has rich resources of -

{(B) Copper

() Manganese () Coal
yZ 'W&rmdPeate’wﬂswﬁltenh}r:

(A} Lenin (B) R.MN,Tagore

() Sarofini Naidu /{D}"T.tuTﬂJ's['n}r
B Enzymesare: )

{A) Carbohydrates

A8 Biclogical Catalysts

{C) Fats

(I} None of the above
™. Taj Mahal was des by :

(A) Ustad Mansur (B) Ustad-Rahim

{0 Ustad Shamsher /{Bj”mm lsa_

9. Privateinvestment is otherwise called as -
(A) foreign direct investment
(B induced investment
—Er autonomous investment
(T} foreign institutional investment -

9.  The information in "EEFROM is erased by using

(&) UV-rags
(01 Drgital Signals

B Flectrical Signals
{1 Electrons

7. IRDP was introduced d LFing e :

{4} Fifth Five Year Plan -

(B} Fourth Five Year Flan
(L) Third Five Year Plan
Sixth Five Year Flan

9. Statement1:Quinirie is used in the treatment of

Malaria,

Statement 21 i sobtained from the root of Cincheng, -

(A} Statement 1 13 incarrect, but Statement 2 js

CinTect
/!_Elazlﬂnth Statements 1 and 2 are carrect
() Both Statements 1 and 2 are tncorrect
{2} Statemveni 1 is correct, but Statermens 2 i5
mcorrect

. Who was the prandson of Azhoka !
{4} Dashkumar (B} Dashanan

¥ Dasharath LY Crasrag
#

100 I mature, trophic level, et fund in -
(A} Shootsystem Ecosystem

i} Tissuesystem {0y Rk system

111 LH 2
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PART - C

QUANTITATIVE APTITUDE
1. Ifa = 4011 and b = 398% then value of ab = 7 108. A sphere and a hemisphere have the same radius.
(A) 15899879 {By 15989979 Then the ratip of their respective total surface area
{0 159GE870 (D 15999879 s
! (4) 1:2 B £:3 (O 3:4 2.1
102, Each Df“bfth‘ucit‘flﬂﬂ}equﬂ! radii with centres at ) s
A and B pass through the centre of one another, 1§ | 109. The mérked price of an article 5% 500. A sho
they cut at Cand D then £DBC is equal to - gives a discount of 5% and still makes a profit of
) 10 B 120 Qe (D ar 25%. The cost price of the article is -
} {A) T 380 (B} T 300
= = € Tas (O} T 381
103, The average of 11 numbers is 63. If the average of E
first six numbers is 60 and the last six numbers s 65 .
Hlmthenﬁ'h ot 0. 55+ 172 - 7254 201960 is equal tu
(A 60 B 62 et sy (A) 0 (B 1 Q17 o -1
4. Aright pyramid b m high hasa squarcbase of which | 111+ A train rupning at the speed of 84 km,/hr passes a
== _ ; man walking in opposite direction at the speed of
the tiagonalis 1152 m . Volume of the pyramid 6 km/hr in 4 seconds. What is the length of the
TE train {in metye) ?
(A) 288 m? (B} 576 m’ A1 ®m W Q9 @5
{3 1152 m° D) 14 m?
12, HWa%+a+1=0, then the value of a’is:
105, K (A 3 (B 1 [ 0 iy 2
{1+sin AN +5n BY I 4+4inC) ={1-sin A) -
; _ .3 113, 3yearsago, the average age of 2 family of Smembers
(1—sinBj (1 —sm ), 0= A, B,C< 5 then each was 17 years. A baby having been born, the average
side is equal ta - age of the family is same today. The presentage of
() ©os M cos B ops the baby is
: 1
[.B} tan A tan B tan © %) ]E iy ®) 2 years
Q1
(L} sin A sin Bsin C {C} 3 vears (4 1year
106. A man, a womanand a bov together finisha pieceof | 114, The difference betwern the compound interest and
work in & days. 1f a man and a woman can i the simple interest on a certain sum fop 2 vears al 10%
work in 10 and 24 (ays respectively. The days it perannum is T 300, Find the sum -
will take by a bov 1o finish the work is - A T 31,500 (B T 000
{Ab 35 B Q45 (0 30 (G % 30,500 (B T 31,000
W07, Among the angles 30°, 36% 457 50° ape anglecannot | 115, The simplist value of cot % cot 27 cot 63° cot 81°
P an exterioe angheofa rezular polyeon The anyhe 14 )
L i
A1 = ! 20
{4 3R B 4% i s 30 (4] (B -1 © A 8]
SPACE FOR ROUGH WODRK
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ue -1
101, =401 37 b= 3089 d ab T HA = 7 108, U T o T e F e o §d s
(A} 15899879 () 15989979 - - T T, 6 g
Q) 15998879 ALy 15999879 ) 1:2 (B3 (O34 [0 2:1 -

a7 B S A wee S 3 9 gl o @ T
-5 A A A E m‘ﬁ;ﬁcaﬁwmaﬁﬁt
ZDBCHF TR E :

(A) 100° B 120°

10L

c:}!w D) &0

103, 11 HEma w1 e £ AR e v HEna
s a0 F af sty we gEmel = A4 65, Al
W AN E
W60 (B 62 Q64 BT ST,
104, hm & wrﬁzm‘tﬁﬁﬂﬂﬂm =T & fa
Tt 1152 m & fidtfrs =1 T 1
(&) 288 B 576m’
_r 1152 m? o 14 m’
105, i

{1 +sin A){1 +sinB){1 +sin Ch=i1—sinAd

(1=sinB){l—=sin), 0= A BL= :EE?ITT{ el
fFrrs w | 7

-{ﬁ}"’cr.m'a cos B ens C

(B tan A tan B anC

() 1

([ st A sin B sin C

109, UF 5 H 60 5o 2 500 B FRAER 5% FE
- S A TR M 25% T TR HEm § 9 R

IF‘T%;
AR 380 (B) 7300
0 T3 D) 7384

1107553+ 173 — 723 + 201960 Tmes e 27

T @ © 17

11 &4 kem/he 51 70T 99 W wE W fain
fkm/he ] (T TR I TF A A EESH T
FE 5w AAE (T A e

iy -1

(A) 120 _@ 100 () 90 oy 150
112, Al ba+1=0,T A F AL B
-y o ml o©o @2
13, 3 7, 5 TR % w TRET R A 6 a7

a5 7 F T AR R A A e 0
ﬁﬁ%lﬁﬁﬂﬂﬂmﬂ%ﬂ%: -

(A) 1% ELI

© 31 o1

106, T HTEH, T A A v vl mE w0 | 114 foref iy T TEAlE S S WaRn e E A
#1657 §  wa &1 9% o aEd A 0F A 10% Wi w2 ol ¥ TEw s T 00 T T
T 7R A ;14 3T 24 T A 0 A F AT i
T T wm g w0 e e ein g [Ay T 31300 Jm“?au,ma
(A} 35 JABTTHD (0} 45 oy 30 () T 30,500 {0y 7 31,000

107, FH 0, 36, 457, 50°H A UR AT P AR ARE | 115, cord® cot 27 cot 63° cot 817 T T W E ;
A = T A T Em T . o A
Py T i 45 M 5 oy 50° L £) /3 {

T % & Al T8
CY-2013/Page2l 111 LH?2
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116 Ifx=k—32andym1-3k, then for what value of | 123, Find the value of -
k; will be x=y 7 =
W1 W1 g2 o o+ P 2 = g~ 3 Y2
whenr= 41, ya—-3 ;= -1
7. Jasmine allows 4% discount on the marked prica of = 1
her goods and still eams a profit of 2%, What is )0 ® -1 oy 5 o) 1
the cost price of 3 shirt if its marked price is ¥ 8501 7
(A) T730 (B) T 700 . 3
{q T 680 m} FHED 124 When 75 isadded bo75% ofa ntlrnbEf;H'I.E'E'II‘.IE—WETE
. the number, Find 40% of that number :
18, In the following number series & wrong number is WE  ®a 9w o
given. Find out that number. :
8, 18, 40, 85, 178, 370 730 125 Foratriangle ABC, D, E, Fare the mid-points of jis
{ﬁj 180 @ _f,_?é © 1% @ 178 ﬂdfilfﬂABCtEJisq. units then A DEF is :
U= = (A) 65q. units B 8sq units
19, 1 sin§ =0, then cos b, 0 7 <o, is. © Rsqunits ) 45q.anits
M o B o5 126, Fora triangle circumcentre lies on one of its sides,
L The triangle is -
© o 03 3
) (4) obtwsedangled (1 Bosceles
I20. The three equal circles touches_sach other () equilaterat ) sightangled .
externally. If the contres of these circles b ARC
then AABC i - 127, What number should be sy btracted from both the
{A) an equilateral triangle terms of the ratio 17 13 s0as to makeitas 2. 37
(B) an isoseeles triangfe = 43 ) 4 Q5 o 2
(0} ascalene triangle 196, The vai : bk y .
= R W . e value of B, which-satisfies the equation
o aright ingle triangle Laanﬂ+3=3-$E'cE|,|TEH{EH]"'iS'
121 A can do a piece of wark in 16 days and B s ) Wore (B) TE:-:::LP
24 days. They take the help of C and three together () s or e O} 15 or e
finish the work in 6 cays, If the tota] renimeration
for the work is T 400, The amount (in rupees) each | 129. What will come in place of the question mark {#}in
will receive, in proportion, to do the work js - the sepjes 7 .
A} A:100,B-150,C: 150 3.8, 27,112, (1, 3306
(B AL150,B:150, ¢ 100 W52 @/ s e o 363
oA 1tk B- 150, C- 100
D} A 150, B:100,C: 150 130 Aeean do gy piece of work in 12 davs and B in
13 days. They work together for 5 days and then B
left. The days taken by A 1o finish the rEmining
= | workis:
2 S e S ]
_'r- 2 then * the wvalpe of ) 5 B 10 a1z o 3
i L . 5 . ;
= = 131, The value of sin? 65°+ sin? 25° 4 coud 35 +
E cos? 35% s -
(AT - B 6 —10 1
Y +4 h +8 A1 w2 = [T
SFACE FOR ROUGH WORK
CY-2013/Page2? M1 LH?2



116. 9 x=kdi-32 M y=1-%TkF RS
T x=y B0 7
1 @ -l

117, S A e T A mas E A
fire ot 20% @09 AT Tt ©) 39 FAE A
= ¥ fag sy qea Tas0 7
() T720 (B 7700
ey 680 {0y T 650

118, sEnai =1 fe e o we e gen g T e
T A |
B, 18, 40, 8r, 178, 370, 752
(&) 180 (B} 128

@2 @O

—

() 156 175

119, Iﬁsmhu.?ﬁi‘rm&uzaﬂm%:
(A Jn4o
S Jo

n.'ﬁ
o) 03

1. 1 T o T gEe e | e a § ) e
Al % %3 A, B, CE 7 = ABCE -

Y T F (B} Efeg fvE
() TammEs A= 0y FEm TR

Amggm R AT A et i
71 T i # R A e b
¥4 31 afz wmm % fom w5 wiafrE 2400 F 9 FW
& gy o o =fE F foer A i (e o)
i

"o

121,

[A) AT B 130, 150
(B} A:150 815, C: 1m0
) A 108, B o150, O 100
IEFTA S0, B N0 1ED

-

L
X
&
I

—&

!
i
bE]

i

i g R ]

i
i

123. ,.Iltx2+ ¥+ z)x — y — 32) +$;yazl &1
.ﬁ- Hﬁﬂlﬂﬁﬁr={-l,}- =3 7= =1, -~
X
{4) 0 ® -1 © 3 )1
124, =4 fedt den % 759 075 9k a‘n{aﬁﬁa{frm
1 5 T 40% T F =
{A) 80 _By120 {C)y 100

125, u% P ABC & U, D, B, F 3t el & 7
= fag 1t aABC=24 7 e T ADEF R
o e A (B 8. e

@ rEgR T ) 475

126, TF TR o ufide eewl v fom A fem

10 160

Ech &
(&) cATeEE Hm (B) FafgaE
(C) T A

127. 3T 11: 150 SR w6l A S-H HEn 52 =
A g 2 3 A ¢
pu- (B 4 [ 5 o) 2

128, THTHRIM tan +3=3 sec, (F = 8 < 907 31 T F7
HE B TR

{A) e=°

uer’ﬁraw

129, sfar | g g (7) % #6000 A0 7
3,8, 27, 112, (%), 339
(4) 452 (B) 560

(B) 458 [F
oy 159 (¢

(C) 678 B 565

130, ATEFHF A TE o tanes g d
raE kA smsa §dn fm edEimti amm

i W T R & e e T fem g, 7

; . - (A} 5 ® W 012 ey
12 -qﬁ J-': 1 _I = Df‘l.t-h ﬁmqﬂ: :'
* ' 131 sinl65" + sin? 25 + cos? 35 + cosd AR AN
A7 Ml -6 M =10 :
G-z ) 2 (Al B2 4 3 iy o
TR i & foda w
T CY-2013/ Tage?) 11LH2
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133

135,

136,

137,

138,

139,

40,

F41.

- A table with marked price 2 1200 was sold to a

The angle in a semi-circle s :
(A) anobtuse angle (B an acute angle
() arightangle D) areflex angle

A train 50 metres long passes a platform of length
100 meters in 10 seconds. The speed of the train in
meters/ second s :

{C) 50

W  ®m15 gu

If | be the incentre of AABC and /B= AP and
£C =50, then the magnitude of £BIC is -

(A) &F (B IEIJ'“.
(C} 105° () 130°
Value of -

( sin? 7 4 sin? 25 4 panZon 12 ﬂ'ﬂ“Jis.
> :
B 0 O 4 (B 1

Selling an item for ¥ 1800 at a discount of 0% a
shopkeeper had a gain of 7 200, Had he sold the
itern without discount the percentage of prafit would
have been -
(A %

(A) 2

@ 5% O W% o w0

customer for 1100, Find the rate of diseoumnt
allowed on the table,

fA) 5%‘3{- () 9%% Q0% @M %

IF the ratio of volemes of two cones i5 2 : 3 and the
ratio-of the radii of their bases i 1 2, then the ratio

of their heights will be -

A)3:8 @ 43 © 34 D83
B2¥=Le 254 12390 then the value of x i5 -

A) 8 {B} 5 Q7 (i o

In ATQR, the line drawn from the vertex P intersects
QR ata point 5.1 OR =45cmand SR =15cmthen
the ratios of the area of trangle POS and triangle

PSR is -

(A 311 (B 3:2 0 21 ) 4:1
Finud the valoe of T- 2 5in?0 + sint g,

A cost b (B) cusecin

"o \'...'\.l""iq‘ I'l_ﬁ ﬁ-il'llJ L]

142, The ratio of the ages of two personsis 4 : 7 and the

143,

The adjoining pie-chart

agenfnmnfmmisgrealerﬂﬁnmatofﬂientherh}r
3 years. The sum of their ages ( in years) is -
W ®m72 Qo oo

3 .

ur+£=1_tmwwmfﬂ£m
8 {l-x)

A -1 B 2 -2 M1

shows the proportionate

expenditure on various item of Amar’s family, If the
monthly income of Amar is 7 48,000/ then answer

Question Ne. 144 to 147,

144,

145.

146

147,

Had his income T 40,000 /- henr much would he
spent onfood 2
(&) 1360
QO 6800

{B) 8160
(D) 14,960

How much does he spend more on rent than
transport and education taken topether?

A} 9,600 Bl 2800
0} 12,000 ) 2400

If 10% of miscellanesas expendlitre is earmarked
tor clothing, how much amount i5 spent on

clotbes ? _
(A) T 1,440 B %2880

{0 T 15640 N T 14400
How much does he save per month 7

() 14400 (B} 3,840

() 2,400 1) 7206

CY-2013/ Page24
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132 wfgaFEmdm -
(&) e @ =R wm
_ iy D) =g
133, 50 v &t o M 100 W W O wRme w®
10 B How e e o, e e
S W10 @ () 20 D) 50
134, TTZ 1 AARC # 3fa 52 B Al LB = TP 3T SO =50,
il LBIC %1 9iEm F - ;
(A) A7 1200 (O 105° (D) 130°

135, [Eil'l.] '?]E + 5inIEIIE + tan® 2 tan? B:E"} F1

H & -

AT @mo D) 1

136, 10% 1 T2 W UE a9 F 10T 4=E = oOuw
TR A 2 200 0 F4 T T afe 3

_ EE o WA Bl ol T R i
(A) 20% 5% (O 3%

i 4

o 10%

137, STHa e T 1200 A U 2R T WES F1 T 1100 H
I T | TR WO G A T

1 ]
B B e o L R

ﬂﬁﬁ%@aﬂtmﬁmmzzz%aﬂ!m
i F Tl = s 128, @t Sank

1 AT B :
(O 3:4 _4Bf 8.3

(A) 3:8  (B) 4:3
139, T P-lpEHloadE xF IR E

A) & B 5 &7 @6
140, APOR, wind rd = 7 T QR W iy S

134,

142, i s oI 47 e A s
1 3w e 30 o aftes & amel

A (Tal q) 7 -
) W00 @ 70 (Q40 _@ 10
x4 2
143, Wﬁx+§=1.ﬁ’!ﬁfﬁrﬂﬁ%:
-1 (B2 Q-2 4

ferr gy wrd v v o e = fafue o2 ar st
Ty gt # AfE anwE w1 minw ae ¢ 48,000 € A
T 144 #1147 H T E =

144. 75 3HF1 AT 40,000, - B A 9 W e =g

e = :
(A) 13607 (B) 8,160
T 6,800 {0 14,960
145. A% TiEeA 47 fm & #figeg = 8 & ow
TR e o 7
{A) 2600 {Br 4500
{0 12,000 BT 200

M6, I Ry =1 w104 w8 o g s B @

#13% OR =45 cm FSR=15cm T F= POS 0 T f i A
3T Fr PSR ¥ S| % e # - — AT 2140 By % 2,880
(A) 3:1 @B 32 «4ef 21 (D) 4l (€} 15340 [ % 14400
141 1-2sin? 8+ sind 8 F WA FH H1 | 147, % ¥ e fe wan wm i
44T Cost @ (B} cosect b (A) 14,400 T30
Q) secth (0 sin? 0 (€} 2300 (o) 7.200
T & % fod W

CY-2013/ Page2s
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Fﬂ-]'l:rwing hfst-ugra.m depicts the range of heights of FOR VISUA LLY HANI MICAPP
students in a class of 60 students. Study the same and x CA NDID -1'réth1_njL&- tPED
answer Question No, 145 to 150, o e bl e
144. 16 children are to be divided into two groups A and
B of 10 and 6 children respectively. The average
- —| marks obtained by the children of grovp A is 75 and
" that of all the children is 76. Then the average marks
| R — = of the children of group B js -
24 Tl O 2 1
7= =
5 @y 773 ® 78
E 20 z 1
T (9 & By e
5 16 =
% :: 145, The average marks of 36 students in sectiom A is
3 86% and that of 24 students in section B is 96%,
Z Find the average marks of a) the students in
"""""""""" section A and section B together,
f M) 88% B 2% O ny D) 0%
3 s, F‘ﬁ‘rﬁ'ﬁ'ﬁ?@@#ﬂm}\fmmﬂwmhbaﬂ Z: 3, sothat the

X g, {

BNV S T T |
|

J

UM OF Ynetr squares is egual o 504,
{A) 6,12 18 (B) 714,71
() 8 16 24 ) 4,812

i

Height in centimpete

C— —_

|—\—_ e

[yt

148 Number of students having height more than | 147 By selling =alt at 755.40) perquintal 3 deafer lyst 7o

150 cms : At what price should he have sald it 1o Eain
oL )
e (4} Tedon (B T3
AL B as 5 R 25 !
il S © ras 0 7520 (D) 2 65.40

!

198, The vuter circumference of 2 1 em thick pipe is
H em. How much water will 7 cmy of the pipe
149, Number of students with their heights between

s
13 o 150 cms - f‘mld?[Tﬂh:'ﬁ' = —
o
: (A 1792 ¢ (B) 308 cc
£ 3
.8 S gt R iR 0] 797 ¢ D} 1078 ¢.c
== M9, HP+Q+R+5=5nd (F+0) (R+5)=F, then the
e numerical value of P+ (J— R — S
(a) 0 B 1 2 o -1

151, u hi 5 maximiu » } . ; =
0. Group which contains m: ®EmUm mumber of 150. The compound interest un a certain sum for 2 years

students ; at12% por annum, ompounced annually is € 1272
_(A’f/‘ The simphe interest for that sum at the same pate and
150-140 (B} 140-150 tor the same period will he
(A T 1y b T 12
IC) 16n-170 D) 130140 Y T thik T2

I
SPACE FOR ROUGH WORK
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Pren s forw 60 Bt o v et ot

¥ 7ot s e 2 e 1459 150% T E)

b
5., ==
|
22
a0
Ew
T 15
EM
B 1
10
By Bt
s
i
3
10 1190 120 130 140 150 160 170 180 150
= A, Hi

148, 150 cons % sty WA w5 w) g -

(A} B & 38 () 13

149, 130°% 150 cms 3 =g Han =5 EIEIEAR to

14) 6 (B 14 (D) 22 |

»

150. =7 i sy den fra w2 2

o) 25°

L.

145,

146.

147,

148,

149.

150,

16750 51 HH9: 1030 6 70 % 9 753 A g a g
A F W A T w= g e am A 75 e
24t 7 % 76 31 g B a ¥ g aim

o
(A) T3 ® 785

. 1
© 785 o) 75
HREA A 36 01l F ooa ofk 4y el B p
248 % 06% F1 B9 A o = B fom
Y] B F sites A Im 1)
(V) 88% (B 2% © W% (D) 0%

1:2:3 = 379 4 i v 78 Sifan fan i
1 IS 504 TEL R

(A) 612,18 B T2

(C) 816,24 D) 48,12

T 55.80 W s w0 9 1 U ol # 7
w1 T B 1 EH 7Y T AR w0 fan B s

T o R ) e
(A T 64.00 (B) T 6420
(C) 74520 (0 % 65.40

T 1 o T2 015 AT TR 44 cm #1 7 om TR

B MBce
(M 1078 cc

AE PLQ+R+5=5 A (P+O) (R+5) =6 7
P+Q-R-5 =1 WEARTE qed §
(A 0 B 1 () 2 @) -1
Terveft ifn 2l 3 e 2% wf A ) 22 i
THYG WY TEgls w712 b T
o i A s o aEfe ¥ e wanw e

fA) 150- 160 * 140 -150
&) g -
(A1 T 119 B T 120
15 16 - 170 4 120- 740 iy %1200 O 21k
TF FH & fad 9
CY-2013/Page27 111 LH 2
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PART - D
ENGLISH COMPREHENSION

Directions : In question No. 151 to 155, some parts of the
sentences have errors and some are correct, Fing out which
Part of a sentence has an error and blacken the
@l [@] corresponding o the appropriate letter (A, B, 0,
It a sentence is free from error, blacken the oval
comresponding to (D) in the Answer Sheet.

151. Every bov and every girl/ were giv
(A} Llfj

. packet of sweets / No errpr.
N { D)y

(A LAB]
bagand baggage / No Eryor -
(el ()

153 Partof the [ﬁea[{hgrﬂgmm,f
'-iLLJ':].;'J-

involved 'nI!E['-'iL'-.'-'r'n_gimu i 1&,.-"
iB)

n fiiner-city 3 reasy Mo epror.
i} {0

154, Looubd nor put ypat g huote] /
{A)

board
3

becapse t

in harges /

were b éxpepsie &E_Lﬂ'ﬂ
L {8

155. The YOURE man / was surprised
4] 8]

Perhiaps o shade scanufalized /Mo orpsr
1] ) gL{[{r

-

CY-2013/ Page2s

Directions : In question Mo, 15 1 160, sentences given
with blan in i |

-the correct alternative out of the four and indicate it by

bh:kmmEﬂIeapprﬂpmmwaJ[-]mllw-ﬂmﬂmﬂ?ﬁ.

156. The sound effects by the recording

director,
(A beenprovided (B} provided
S Areprovided gy being provide
157. She heard the of the hinges,
(A} crashing YY" Creaking
(C) mattling 0 mstling

158, The hunter Billex] o

g for dinmer,

() for Ao
LB
153, The principal hasgiven his _ to the
mikch,
={A) refusp {I- assent
) except {13 ascent

1ai, Thﬂ__
|Ij;-'!s:|"-|;illﬂ
(O bald

of cotton is very heavy,
(B bami
(D bail

Directions - |n, question Mo 161 1o 163 gut of L bogr
alternatives, thoosy_the one which bost EXpresses the
neming of e given word andmek it in the Answey
Sheet

161, Honese -
(A} direct

',,J:E] aubhentic

162 Cantankerors -
4] rash
) noisy

{B] actual

AP Upright

184 disrespectil

h:ﬂl’_,‘l_},.-queu'ml‘&-un’if

MiH 2z



163, Vocation:
[A)-ticcupation {B) holiday
{C} examination (D) semimar

Directions : In question 1o, 164 ta 166, choose The word
opposite in meaning to the given word and mark it in the
Answer Sheet.

" 364 FRUGALITY:

{4) enmity (B) captivity
[ gaicty DBy prodigality

165, MISERABLE: 1)
(&) active {B) laudable
{O) soltwiry LBy happy

166. HUMANE:
(&) person (B man
(G unkind (D) living being

—

Directions : In question MNo. 167 to 171, four albernativies
are given for the Idion', Phrase underlined in the semberice,
Chaoose the alternative which best expresses the meaning
of the Jdiom?, Phrase and mark it in the AnSwer Sheet.

T 167, Tocutone short. -
[A) tocriticise one (b)) tointermuptone
() bo o one M 1o inselt one
168. To throw dust i one’s eyes.
{4) toshow false things  (B) tomake blind
(7% foharmsomenne ﬂlndﬁelve
169.  He s acutaboveall the other boys in the group.

{4} alittle rougher than
BT rathwer superior to
() cpite tafler than =
(C% moreactive than

170, As soom as the police arrived, the bank robbers
shutwed e webiite e
i wuere mcensed

o
(Ch calmly ket the scone ) surrendered

A mamaway

CY-2013/ Pape2d

171, If you read between the lines, you will appreciate
whit he writes. )
LAY Enow what the writer thinks
(B) canread and writein the language
{C) can read leaving lines in between
(D) canread alot guicker

Directions : bn guestion Mo. 172 to 181, a sentence// a part
of the sentence is underlined. Below are given alternatives
to the underlined part at (A), (B), (C) which may improve
the sentence, Choose the correct alternative. In case
no improvement is needed your answer is (D). Mark your
answer in the Answer Sheet,

172 Thesight of the lizard is hateful tome.
By Tepulsive
(D} Moimprovement

(A) I!E|_:II:I]5i.l:In
(T repulse

173. During his long discourse, he did not touch the
central idea of the topic.

{4} touch (B} touchon ~
AET touch upon M Noimprovement

174. Would it be impertinent bo agk why vou are
[eavimg *
(A} if asking why you are leave
(B) forasking why you are feave
(O toasking why vouare leave.
F{E?]"'Nu_}imprcr'.rmmnt

175, We did nok see this nrvie vet.
@fhwe twok segm -

[} DNoimprovement

(A} meverseen

{21 never haveseen

176, This telephene number is not existing.
(A1 has notexisted (B has niot been existing

ﬁﬁtws motexist {0} Moimprovement

177. Unless they moedify the system, our future
generations will suffer.

I,&’-.f Unless the system is modified
B Unless tl'||_','\1:|.‘~||_l_'m will be modified

{03 1f the system will not be modified
(L3 Mo improsernent

B e

L B ::.umuhﬁlﬂmm.;

St AT
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178.  Rapesh's ahility to use the local language surprised
me

(A knowing of

S Tamiliarity with

(B) confidence with

L) Moimprovement

- 17 Tusually did not take sugar in my tea.
u{ﬁf/ni—anmtake {B) donottakes
{0} havenot taken (D) Moimproverent

180, We have to know that we can achisyve things slowly

and gradually, not overnighe,
A would know that (B) Bad to know that_
'»Ef.,"jfmus?kn:rw thit () Meimprovement

181, The student’s intercst was raised by an article he

had read.
(A quickened {B) mudtiplied
(&7 increased {0} MNotmprovement

Directions : In question No. 182 4o 188, out of the four
alternatives, choose the one which can be substituted for
the given words/ sentences and indicate it by Blackening
the appropriate oval | @ | in the Answer Sheet

182 Astrong dislike
>
L aninosity B mafics

[C) reciprocity (LY entreaty

CY-23/ Pagest

183. Person whe files a syt -
Ay Plaintiff
10 charger

(B} accuser

(DN smitoe

184. The Mahabharata jz:aiﬂg_mm
theme: -

(A) naration (B epic
(C) summary ([ story
185.  The practise of having ANy Wives :
k)-palygamy (B polyandry
Q) bigamy () calligraphy
1B6. A person who abstaing completely from aleoholic
drirtks -
{4} subjunctive (B) incriminatory
LAY teetotaller (D) develict

187. A frog lives both on land as well as in water:
(Br ambidexterons _
WB-amphibian

(A aguatic

-[(j animate

188, Takegreat pleasyn: :
(A uphold

(B overhaul
0} satisfied

Diirections : In goestion Mo, 189 and 190, four words arp
given in each questing_out of which ondy one wornd is
correctly spelt. Find the corvectly spelt word and mark your
answer in the Answer Shigl,

159, (A} propelter (B propelne

LAE}~ propeltar (M propeler
190 (A} misionany [ rHss Iy
() misinerry AP misgionary
N1 LH 2



Directions: In question No. 191 to 200, you have two brief
passages with 5 questions following each passage. Read
the passages carefully and choose the best answer to each
question out of the four alternatives and mark it by
blackening the approprizte oval [ @] in the Answer Sheet

Passage - I [QuesFion No. 191 o 195]

The reports published by a Delhi based
non-governmental organization working for the
elimination of child labour in India suggest that there isno
end in sight to the sordid saga of child labour. The studies
conducted reveal the nightmarish ordeals that a vast
mjority of children underge for getting the basic necessities
«f life. One of the activists narrated the heart-rending and
shocking stories of many hapless children. He accused the
socizty of insensitivity towar{ this vulnerable section,

Ttis said that more than five percent of the total Indian
populition are child workers, Tens of thousands are chuefly
engraged in agricultere in rural areas and in a variety of
incdlustries inurban areas. Children as voung as seven years
of age spend davs stitching foothalls, boxing and cricket
gloves for export, Many children spend their entire
childhood makipg carpets with their dexterous hands.
Unofficial Bgures suggest that as many s 40 to W0 millon
children work in hazardous industrics like glassware,
fireworks, quarries etc. Many of them have been forced to
waork in unhygienic conditions often on a casual basis.

191, Thewaord heart-rending means .

(M) shocking = (B} painful
() msky (EA-~distressing
142 Thesociety is accused of towards the
problem of child Tnbour,
A msensitivity (B} bias
(0} reports (0N vulnerability
193. __ __ of children work in hazardous
comd itkins.
iA) Five percent (B} Thoussads
(C) Many _(¥-Millions

184,  Theirchildhood is spent in
(A} hapless
i) wvast

_conditions.
B arkan
1l‘_{l;lll.-:|'|‘i;g,1'|1'|'|'|mri_*sh.

195 Thie report was pulblished by __

A} e governmental organization
{B) an activis

JF_!I’:I Drethi basied non-governmental organtzation.

([ the Delhi government,

CY-2013/ Vage3i

— [C) discowiery

Passage - I [Question No. 196 to 200]

The advent of electric power was, in a way,
comparable to the successful development and application
of nuclear power in the 200 century. In fact, the historical
roots of electricity exterd far back into anticquity. Many
men had a hand beth in acquring basic knowledge about
the invisible form of power and in developing the ways
adopted for practical purpose. Ome of the vital keys that
helped to unlock the doors leading to the production of
electricity was thediscovery, in 1831, of the principle of
electro-magnetic induction. This discovery was made
simultaneously by Michael Faraday in England and Joseph
Henry in the United States. From it came the generator,
sometimes also called the dynamo but several decades of
development had to follow before the first practical
dynamos or generator came into existance in early 1570,

196.  According bo the Tthor,

(A) The discovery of the principle of electro-
magnetic induction was not an important
discoveny.

,_;{BTAI]M advent of eledtric power is equivalent to
the application of nuclear power in the
M century. =

{0} Micheal Faraday and Joseph Henry
revolubipnized elecricity inthe USA.

{3} Muclear power and electncity were discoverad
i the 200 century. =

197, Giveasynanym for “antiquity” 20
(A1 Modern B} Uniquemess
L AET Ancient (Y Antipathy

198. Micheal Faraday and Joseph Henry discovered
4} the dynamo
WBT the principle of clactro-magrene induction
iC) the application of nucbear power
(CH the generabo

199.  Apather word for "advent”™ @5 _
{h imvention (B} comstitution
LSBT arrival

200, The generator was also knownoasthe

By wonductor

t_]:Fﬁ-Jl,l'..'l'l.lrl‘n'l

iA) anventr
(1 inducter

S ALE
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MANNER IN WHICH ANSWERS ARE TO BE GIVEN

s w g

Directions :— Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes
the statement and blacken [em] appropriate
oval A, B, C or Dby Black/Blue Ball-point
Pen against the question concerned in the
Answer-Sheet.

(For V.H. candidates corresponding oval
will be blackened by the scribe.)

The following example illustrates the manner
in which the questions are required to be
answered,

Example : —

Question No. Q-

Dt of the four words given below, three
are alike in some wav and one is different
Find the ODD word -

(A} Gird

— (B Boy

(C} Woman

(D) Chair
Explanation :— In the above example, the
correct answer is ‘Chair’ and this answer has
been suggested at ‘D, Atcordingly, the
answer s to be indicated by blackening [am|
the oval by Black/Blue Ball-point pen in
column ‘I against Question Ne. O in the
manner indicated below -

Uuestion No, ‘(Y

(Al 8| €] -]

Ther& s only one correct answer to each
question. You should blacken [@®] the oval
of the appropriate column, viz,, AB Cor
D. 1f you blacken [@»] more than one oval
against any ofie question, the answer will be
treated as wrong, If you wish to cancel any
answer, you should completely erase that
black mark in the oval in the Answer-Sheet,
antd then blacken the oval of revised TESPONEE,
You are NOT required to mark FUOLT ansivers
in this Booklel. All answers must be
indicated in the Answer-Sheet only.
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